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2.In a hand of 13 cards chosen from an vrdinary dack, find the probebllity that it is compoged
of exactly 3 clube, 4 diamonds, 4 hearts, and 2 spades, (104})
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5.8 submarine firesz 2 torpedoas ar a ghip, with tche following chanceg of hitking:

For the first torpedo, 1/3.
For the ether tocpedo,

1/2 if the previous torpedo is a hit,
1/4 1f the previous torpedo is a mis=g.

Lat X be the total number of hits. (&) Find the mean and variance of X, (54F) {b) What iz the
probability of at least 2 hits, given that the first shot was a hit? (104})
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6.4 certain t¥pe of brick im being considerad for use in a particular constroction Frojact . The

brick will be uaed unless sample evidence strongly suggeats that the true average compregsive

strength is below 3200 pei. A random Bample of 36 bricks is selectad, and each ia subjected
Lo a compreassive strength test. The resulting sample average compresslive strangth and sample

standard deviation of compresgive strengkh ara 31i0s psi and 1S& psi, regpeckivaly. Carry cut
3 kest to reach a decision using level of significance 0.05, given Zpozs=1.96 and zp4s=1.645,
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7.Three different rosdes feed inteo o

particulay freeway entrance. Suppose that during a fixed
Lime period, the number of cars coming from each read anta Erasway

ia & random variabhle, with
expected value and standard dev-ation as given in the table.
_ . !ﬂl Road 1 Reoad Z. Boad 3
Expacted value ; g0 10046 B0
Standard deviation | LE 25 1@

What ig the expacted total number of nars entering the freeway st this poict during the period?

Agsume bhabt che three randowm variables are independent, compute Lhe standard deviation of che
tobtal, {1050

2.From the foilowing sample of student grades,

|

Student : Flrst Test X | 8econd Test ¥

i an Q0

i B 60 70
—

C 20 4

jal 30 a0

E L] (2]

ta) Calculate the simple linear regresgsgsion of ¥ on X; (59

(b} Bt rhe 5% significance level, can you reject the null nypothesis p=07%

Uoosp=s = 2005, fypns =g = 2132, fans e=1 = 2353, fpans s = 25710, fonzsv=d = 2776, fya25 vy = 3.182) A

2. Taiwsn hrea i3, on the average, hit by & cyochoons a year. Find the probability that in a given
vear this area will be hit by anywhore from & o 82 Lyphoons . L§08)3
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